


Electrical current
Symbol: i
Unit: Ampere (A)

For example: 1 mA =0.001 Amperes



Voltage

Symbol: v
Unit: Volt (V)

For example: 5V



Circuit elements
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KVL
Kirchhoff’s Voltage Law



ib=i1+l2
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KCL
Kirchhoff’s Current Law
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Resistor

Symbol: R
Unit: ohm (Q)
For example: 1 kQ
_|_
v

Ohm’s Law
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Other components

LED

Photocell

v=f()

v = Veixep

V=1

R

if itison (i >0)

R(light)



Rules of the game




5V -

Rules of the game



If the resistance R is 2 kQ,
the current i is:

8V

2 kO li

[A] 0 mA

[B] 2 mA

[C] 4 mA

[D] 16 mA

[E] | don’t know



What happens when the resistance R is lowered?

8V

=3

[A] The currenti increases

IB] The current i decreases

[C] The current i stays the same

[D] The current i cannot be calculated

[E] | don’t know



What happens when the resistance R is lowered?

8V l"

Very bad!



What is the current i ?

8V

[A] 0 mA

[B] 8 mA

[C] 8A

[D] o<

[E] | don’t know



What is the current i ?

8V

No current



If the resistance R is 2 kQ), the current i is:

OV

2 kO li

[A] 0 mA

[B] 2 mA

[C] 4 mA

[D] 16 mA

[E] | don’t know



If the resistance R is 2 kQ), the current { is:

No current



5V

When the switch is
1 kQ open, the voltage
UZ iS:

[A] OV
Switch [B] 1mV
€] 1v
(D] 4V
(€] 5V




= When the switch is
= 1kQ open, the voltage
ol %) IS:

[A] OV
[B] 1 mV
IC] 1V
ID] 4V
[E] 5V

Switch




Internal

A N N N N S S S N



